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Recol Qivision Th: Vaed VbeZz b>0 =)
a!qez ﬂfrez (O&(‘Cb/\ Q‘:bc’-kr)

Note : b dividesa <=2r=0

Th: 3divac=>3div o2

Proocg: Sirst we shaf  proe adiwal =7 3div ? :
assume 3 dive | they =3k Jor Some kel
therefore &= 3K%= 3 (3k%) S0 3 div k*
Now fet's prote 3dival=>3 div a:
b;ﬁ ntraposition assume 3 deas not ivide R,
Than &= 39+ 1 or Q=39+2 Lor wme qeé
50 @’z (3q+1) = g% bqs 1= 3(3q%2q)r 1
or qz = (3<[-r2)1= ‘iq"-‘- 113-\-4: N clz-c- 129+ 3+ |=

= 3(3‘}?"*(.71-1)1' |

(n Qm& @R, 3 does not diwde %

In hw 0se +his To REOLR. U3 s oot
t%*iono.?
@uQsﬂ\lons is Y n €& z! v o€ ¢ N Q;,vac) ndiv czz

fewa ?

Is Vn frcetionef §or RRr Y neé' thet is not
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Note : 1§ ne 2t s a par §ect sguere,
e n=a% Jor seme se &' then
tle remainder °§ N divided LS 3 Capnot

be 2

3333335 s et < eqr:}edf‘ .SunrQ
Whé ? 3333335= 3xulunil+

Deé : Given Q, b el , not+ both ufuqﬂ

to © ) the Srzq'fzsf COM Mon

Qivisor og @ and b ) (Q,b) or (Scd (Q,b))
(5 the Onique tn‘]‘e\ger 4 s.}

D d >0

2) d diva end d div b
3) Y c €2t (Ce\:VO\Acdcub) => C £d

How do I know ther rs one aad onlzg
ocaa iq“o.sec d wulh thex progerties

Lot A=i ne et )] ndiva and n iy .b_t-
tlen 1 €A 50 A s ot Qm(“g

Qné efenment OS A s ¢ ol @nd |b] § Q40

b+o
so A is jinﬁe Qnd  +there ore i+ hes  amex
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E X ((‘5/ 25)~5 WLDS 0
29 = .5«5--5a

45 = 3:356 = 3%.5%
(25,¢5)= 5

Take common divisers, suth Pouest expose nt

FQC"OtiaS Is hard .

E «cf dean Qgsorrf)-hm-. to @omqute (g5, 257
5= 25-2 - 45
45 =S + 20 25 ~(¢5~25)

25 = 20| « 5 5 2S5 ~29. |
20 = S-4& + O
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We shoudd

) Describe o Senqrq.() Q?Soc.")'hmq

2) Proe it termminedes

3) frow i+ s correct 1o oot puts  ged

4\) How eoag does 1} teke 7 How mo.nJ divisions ?
L& S - #éfds‘b °vS smefle - 05 Q aad b

Th let a=bgte  then (a,8)=(b,¢)

Pf‘oog t Pt di=(,8) <Qid dy=(b, )
since d2 div b ead d, dir , then

dz dvv q so d2 Sdy

Sinee dy4 div end dg Yiv b and r s Q-bq

then  de dive o dpcd,. Tan di=dp
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Th: IS d=(a,b) The, There <re
¥o 4o s.1 d= QX+ bbo
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V- Q "HW. anto.r du’o‘nhqn‘#ng Q.RU.Q‘l's‘on

d= ax + 53 has .seQ....-}ron X S¥g AR
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T’-\ ”'hz ?inzo.r' é\’o?bqn"lino_ QTuQ,‘)'fon
C = Qx*bé )-)Q_.S neo &Q’-&."';DQJ

t'g (& b) &OQ..S \")O"‘ é\'\ll.dQ C
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SOQUL Zx'\'((:j = 6
@ wi te A= Ko & %o "G

(= 2:2 + O 0= gb+ D
A= 64 -~2-4 b- a-@vb

325 2(-1)3461°3

Qne 5QQA&"'iQn rS Xl = -3 5&’-'-' 3

@ lg X=X, , Y= %\ s @ solidion
o X ‘l’:} = C and d=(a,b)
oyd X, + bidy = <,d
+han X, + 5 n 8 - & ne &
d a
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De * 1§ eo,bel a,b are called
o Qi me fS (e,b)=4

Th 15 Q div:éqs bce <ad (*,b)=1
mn Q ACWAQS C .

?I‘oog : We can wnite 1 = Qxo =+ J’:So ¥or
bome e, €d. S C=uet by o
C = CQA¥+ AKY, 3% doma. K SO é.:v;éaq

Q‘Jco?@erJ : fj @ ’s pLiame wd P diveb
the q T divides & or £ divides b
Coro?chJ: t§ P 1S perme ead pdiva, . e,
Hen p divides ®¢ Jor  Some .

Coro?Qerz f\'in'nq 5Qc-\or\'?_e.‘h0n rs 005‘3ug~

ba Con ‘\'(Q-Au’c,{'ioa QOIVU MM ’H\QCQ (43 n € é+

\»\\fch has 2 destiact primme jqc#m:éq’::m

k' k'l h| h e,
blat is n=fy o fp =, 9, weHhop g
and 9 1<¢gem o @ et e Qad Len

Ql"“\er no ? IS Lquq? o qiiwlwch 'S
fm?o.»;.b?:. be (w32 §; ™Mvst dipde P Jor

Some LU So 71;. fb Ov
Pr= 9y bot >k,  which qffec va-'émg

be I'b 5"42..: b:s qik‘ be comoy the fre viovS Q. .
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